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Unit 1 6 p

Directions: In this section, you will hear 8 short conversations, and 2 long conversations

twice. At the end of each conversation, one or more questions will be asked about
what was said. After each question there will be a pause. During the pause, you
must read the four choices marked A), B), C) and D) and decide which is the best

answer.

Short Conversations

1.

A) Attend a conference. B) Give a sbeech.
C) Meet his lawyer. D) Make a business trip.

. A) Jessie always says what she thinks.

B) Jessie seems to have a lot on her mind.
C) Jessie is wrong to find fault with her boss.
D) Jessie should know the marketing director better.

. A) He doesn’t like his new school.

B) He feels very lonely now.
C) He has no time to make new friends.
D) He has adapted easily to his new school.

. A) At a railway station. B) In a post office.
C) In a bank. D) In a book store.
. A) The exam was easier than before.

B) It is hard to get a high mark in the exam.
C) She is sure that she will do it better in the next exam.
D) The man got a bad score.

. A) Jason will arrive at 7:30. B) Jason should have arrived at 8:00.
C) Jason is usually punctual. D) Jason is not very punctual.
. A) The show is too difficult to understand.

B) There is nothing worth seeing there.
C) She doesn’t understand what’s on the show.
D) The room is too small for the audience.
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8.

A) She has been postponing and hasn’t started.

B) She has cancelled it because it’s too difficult for her to accomplish.
C) She won’t do it because of difficulty.

D) She likes history very much.

Long Conversations

9.

10.

11.

12.

13.
14.

15.

A) To make an appointment to look at a house.
B) To get information about special housing.
C) To ask about getting a loan to buy a house.
D) To renew his housing contract.

A) With his grandparents. B) In student housing.
C) With his wife’s parents. D) In his own apartment.
A) He earns less than $15,000 a year.

B) He’s looking for a full-time job.
C) He thinks his rent is too high.
D) He plans to go back to graduate school.

A) Pass his math class. B) Get a good job.

C) Get his degree. D) Change his field of study.

A) First year. B) Second year.  C) Third year. D) Fourth year.
A) The instructor did not like him.

B) He did not bother with studying.

C) He made a mistake early in the problem.

D) He wanted to transfer out.

A) Psychology. B) Math. C) English. D) Material.

sday

Directions: In this section, you will hear 3 short passages twice. At the end of each passage,

you will hear some questions, and you must choose the best answer from the four
choices marked A), B), C) and D).

Passage 1

1.

2.

A) Describing a dishonest person.

B) Admiring a person who seems to be sure to win a race.

C) Anyone or anything that is certain to win a game.

D) Any athlete or competitor that seems too clever to be cheated.
A) He used to be best at riding a horse.

B) The public had confidence in him.

() He could always control his horse easily.
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3. A) Because of his perseverance and honest character in the race.

D) The other riders had agreed secretly to fail in the race.

B) Because he could not lose in the race.
C) Because he was regarded as a role model in the 1984 Olympic Games.
D) Because he was a dishonest man.

Passage 2
4. A) A school teacher. B) A high school student.
C) A college student. D) A factory worker.
5. A) The door was locked. B) All the furniture was taken away.
C) All windows were removed. D) The police were called in.
6. A) He came from a farmer’s family. B) He was born and brought up in a city.
C) He liked playing tricks on girls. D) He was always friendly to others.
Passage 3

7. A) They cannot see the firefighters because of the smoke.
B) They do not realize the danger they are in.
C) They cannot hear the firefighters for the noise.
D) They mistake the firefighters for monsters.
8. A) He travels all over America to help put out fires.
B) He often teaches children what to do during a fire.
C) He teaches Spanish in a San Francisco community.
D) He provides oxygen masks to children free of charge.
9. A) He saved the life of his brother choking on food.
B) He rescued a student from a big fire.
C) He is very good at public speaking.
D) He gives informative talks to young children.
10. A) Firefighters play an important role in America.
B) Kids should learn not to be afraid of monsters.
C) Carelessness can result in tragedies.
D) Informative speeches can save lives.

Directions: In this section, you will hear 2 passages three times. When the passage is read for
the first time, you should listen carefully for its general idea. When the passage is
read for the second time, you are required to fill in the blanks with the exact words
you have just heard. Finally, when the passage is read for the third time, you
should check what you have written.
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Passage 1

Psychologists now believe that noise has a (1) effect on people’s attitudes and
behavior. Experiments have proved that in noisy situations, even (2) ones, people
are more irritable and less cooperative; in more (3) noisy situations, many people
cannot work hard, and they suffer from severe (4) as well as other psychological
problems. However, psychologists (5) between “sound” and “noise”. “Sound”
is measured (6) in decibels (%~ 1). “Noise” cannot be measured in the same way
because it (7) the psychological effect of sound and its level of “intensity”

depends on the situation. Thus, for passengers at an airport who expect to hear airplanes taking
off and landing, there may be a lot of sound, but not much noise. (8) ,if you are at a
concert and two people behind you are whispering, you feel they are talking noisily even if
there is not much sound. You notice the noise because it affects you psychologically. Both
sound and noise can have (9) effects, but what is most important is whether the
person has control over the sound. People walking down the street with earphones, listening to
music that they enjoy, are receiving a lot of decibels of sound, but they are probably happy
hearing sounds which they control. On the other hand, people in the street without earphones
must tolerate a lot of noise which they have no control over. It is (10) that we

need to control in order to help people live more happily.

Passage 2

Certain urban problems are common to both developed and developing countries, for
example, poor housing, (1) , traffic jams and pollution. But there are problems,
which are (2) developing countries and this is due to the need of these
countries to (3) a basic structure necessary for industrialization. The provision
of this structure is the urbanization (4) itself.

There are five main consequences of uncontrolled urbanization: Firstly, people move
from the country to the city because they see the city as a more (5) place to live
in. Secondly, rural areas thus become less populated and this causes a (6) in the
production of food. Thirdly, there is a high urban population growth rate. Fourthly, there is a
(7) pressure on the supply of social services, especially those services related to
education and health, and finally uncontrolled urbanization leads to an (8) of
labor supply in the cities.

There are a few policies which could slow this kind of uncontrolled urbanization in
developing countries. A more equal land (9) should be promoted. In this way
farmers would be more motivated to stay on the land. Also, the supply of social services in the
rural areas has to be improved, particularly in the field of health and education. Most
importantly, it is necessary to give financial (10) to agriculture, especially to the

small landowners.
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Section A Conversations

Directions: [n this section, you will hear 8 short conversations, and 2 long conversations.

At the end of each conversation, one or more questions will be asked about
what was said. After each question there will be a pause. During the pause,
you must read the four choices marked A), B), C) and D) and decide which is

the best answer-.

Short Conversations

1.

A) The woman is watching an exciting film with the man.
B) The woman can’t take a photo of the man.

C) The woman is running towards the lake.

D) The woman is filming the lake.

. A) It’s quiet in the restaurant.

B) The price is high in the restaurant.
C) The restaurant serves good food.
D) The restaurant is too far from their school.

. A) At a booking office. B) In a Hong Kong hotel.
C) On a busy street. D) At an airport.
. A) The woman has been complaining too much.

B) The woman’s headache will go away by itself.
C) The woman should have seen the doctor earlier.
D) The woman should confirm her appointment with the doctor.

. A) Help the woman move the items.

B) Hurry to Mr. Johnson’s office.
C) Help move things to Mr. Johnson’s office.
D) Put off his appointment with Mr. Johnson.

. A) The man should not dream of being a superstar.

B) The man didn’t practice hard enough.
C) The man should find a new partner.
D) The man should not give up.

. A) There is no more left. B) It doesn’t appeal to her.
C) It’s incredibly delicious. D) She has already tasted it.
. A) The man is usually the last one to hand in his test paper.

B) The man has made a mess of his midterm exam.
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C) The man has bad study habits.
D) The man is a diligent student.

Long Conversations
9. A) The election for senator. B) The election for class leader.
C) The election for secretary. D) The election for president.
10. A) They are competing against each other in an election.
B) The man is writing the woman’s speech.
C) The man is interviewing the woman.

D) The woman is planning the man’s campaign.

11. A) Make posters. B) Write a speech.
C) Answer questions. D) Study chemistry.
12. A) Compare their lectures. B) Review the man’s talk.
C) Prepare questions to ask candidates. D) Vote in the school election.
13. A) In a college bookstore. B) In a lecture hall.
C) In a library. D) In a dormitory.
14. A) English. B) Biology.
C) Introduction to American Literature. D) A required course.
15. A) He lives on the 9th floor of Pink Hall. B) He never wants to listen to students.
C) He used to teach biology. D) He is an excellent professor.

Section B Passages

Directions: In this section, you will hear 3 short passages. At the end of each passage, you
will hear some questions, and you must choose the best answer from the four
choices marked A), B), C) and D). '

Passage 1

16. A) By mercilessly exploiting women workers in the clothing industry.
B) By selling out of date clothes.
C) By constantly changing the fashions in women’s clothing.
D) By making fashion shows.

17. A) A waste of money. B) A waste of time.
C) An expression of taste. D) An expression of creativity.

18. A) New fashions in clothing are created for the commercial exploitation of women.
B) The constant changes in women’s clothing reflect their strength of character.
C) The fashion industry makes an important contribution to society.
D) Fashion designs should not be encouraged since they are only welcomed by

womern.
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Passage 2
19. A) A business corporation. B) The universe as a whole.
C) A society of legal professionals. D) An association of teachers and scholars.

20. A) Its largest expansion took place during that period.
B) Its role in society went through a dramatic change.
C) Small universities combined to form bigger ones.
D) Provincial colleges were taken over by larger universities.

21. A) Private donations. B) Government funding.

C) Grants from corporations. D) Fees paid by students.
Passage 3

22. A) She was very tired. B) Her husband was driving very slowly.
C) It was too late. D) Both A and C.

23. A) In front of Lee’s car. B) Behind Lee’s car.
C) On the right side of Lee’s car. D) On the left side of Lee’s car.

24. A) His wife was asleep. B) He was tired.
C) The road was dark. D) The road was quiet.

25. A) A worker. B) A doctor. C) A driver. D) Not mentioned.

Section C Compound Dictation

Directions: /n this section, you will hear a passage three times. When the passage is read for
the first time, you should listen carefully for its general idea. When the passage is
read for the second time, you are required to fill in the blanks with the exact words
you have just heard. Finally, when the passage is read for the third time, you
should check what you have written.

A news report says the growing population around the world is harming the environment.
Experts say poor people around the world will (26) most in the future unless
environmental (27) is stopped. They say more should be done to (28)
human and environmental needs.

The United Nations Population Fund is responsible for studying population growth. It
(29) the report. It examines the links among environmental conditions,
population growth and (30) to help poor people in developing countries.

The world’s population is now more than 6 billion people. The population is (31)

to increase to more than 9 billion by 2050. The report says about 2 billion people
lack food (32)

The report also says all of the expected growth in world population will take place in
developing countries. Yet, the UN agency says people in the richest countries use much more
of the world’s (33) than people in developing countries.
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The UN Population Fund says international policies need to be (34) to

improve poor conditions, increase social development and ease pressure on the environment. It
also says women need more control over their lives and empowering women will lead to smaller
families and slower population growth. The UN Population Fund says these (35)

would help improve the well-being of growing populations while protecting the natural world.
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Directions: In this section, you will hear 8 short conversations, and 2 long conversations twice. At
the end of each conversation, one or more questions will be asked about what was
said. After each question there will be a pause. During the pause, you must read the
Jour choices marked A), B), C) and D) and decide which is the best answer.

Short Conversations

1. A) Husband and wife. B) Mother and son.
C) Employer and employee. D) Colleagues.

2. A) A railway porter. B) A taxi driver.
C) A bus conductor. D) A postal clerk.

3. A) The neighbors probably won’t turn down the music.

B) The man should move to another place.

C) The man should listen to some light music.

D) She doesn’t think the music is very loud.
4. A) He feels sorry for those students.

B) He considers the punishment excessive.

C) He thinks it good to punish the students.

D) He disapproves of what the professor did.
5. A) Tuesday. B) Wednesday. C) Thursday. D) Friday.
6. A) Ten minutes. B) Forty minutes. C) Fifty minutes. D) An hour.
7. A) The woman be more careful next time.

B) They try to think of a solution.

C) The woman find a spare key.
D) They come downstairs.
8. A) She got home before 9 o’clock. B) She had a bad cold.
C) She had a car accident. D) She was delayed.
Long Conversations

9. A) When to move. B) Where to live the following year.



